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1. The areas of cross-section of three magnets of 1.

same lengths area A, 2A and 6A, respectively. The
ratio of their magnetic moments will be :
(1)6:2:1 (2)1:2:6 (3)2:6:1 (4)1:1:1

2. A current carrying loop is placed in a uniform 2.

magnetic field in four different orientations, I, II,
IIT and IV, arrange them in the decreasing order of
potential energy.

A
"5

()A>C>B>D
3)A>D>B>C

2)A>B>C>D
4C>D>A>B

3. Two thin long parallel wires separated by a 3.

distance 'b' are carrying a current 'i' amp. each.
The magnitude of the force per unit length exerted
by one wire on the other is :
«2 «2 . .
Mol Mol Kol Mol
(1) —5— — P

b2 ) 21b (3) 2nb (4) 2nb?

PART-A : PHYSICS

CLASS - XII

ZONE - 1

< T ofFTSAl D1 FRID! DT YR DIC HHI: A, 2A
T 6A T | SHD DI 7Y DT AT BT —

(1)6:2:1 (2)1:2:6 (3)2:6:1 (4)1:1:1
T GIRT Yo U AR A GpTR & Frarep 121 &1 for1ep Fraep i
g FHF B I Y AR AL, 11, I 91 IV B, g1 Rerfao
ol @ Ted HH | fIfau -

@) ®) CP_E

A
n

=2
os\

© : (D)

(Y)A>C>B>D 2)A>B>C>D
3)A>D>B>C 4C>D>A>B
&l Yool ofd FHIOR IR @I g3 'b' §RT grahd: fovan T/ @
T ISP 4 91RT i’ VPR yanfad giell & A1 g AR g1 31
TR TR I Ui ST oTFaTs ol Pl URHATT 8 —

Boi® 3 4
2nb ) 2 (4) 2nb?

0 @
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A magnet is suspended in such a way that it
oscillates in the horizontal plane. It makes
20 oscillations per minute at a plane where dip
angle is 30° and 15 oscillations per minute at a
place where dip angle is 60°. The ratio of earth's

magnetic field at two places is :
(1)3./3 :8 (2) 16 : 93

(3)4:9 @) 242 : 3

A conducting wire bent in the form of a parabola
y? = 2x carries a current i = 2A as shown in figure.
This wire is placed in a uniform magnetic field
B = 4k tesla. The magnetic force on the wire is
(in newton)

y(m) A
i
2 xm)
‘B

(1) ~161 () 32i B) -321  (4) 161

Two small spheres each having the charge +Q are
suspended by insulating threads of length L from
a hook. This arrangement is taken in space where

there is no gravitational effect, then find out the
angle between both threads and the tension in
each.

o KQ2 o KQ2
KQ? KQ?
(3) 1800, (L)Q (4) 900, (2]_4)2

TEST CODE
2808

T Frd 39 YOR ddchrll 7T ® b g &iferst der § Slefd
IR Al 2 | FE AT PIvT 30° dTel IH W 20 e U
e @Rl 2 STafes A divr 60° aTel I W 15 Jre ufd
e B B | S |1 A1 UR Yl & FHDI & D1 AT
CRIKIRIE

(1)33 : 8 2) 16 : 93

(3)4:9 4) 242 :3

T FTeAe AR fTad] IRaerd y2 = 2x & 3ffasl Arel 11
2T URT i = 2A RETIER gaifed & T & IR 31 7o
FAF GO ST B = 4k T H @ 718, A IR W
T dTell GRIDIT g 91 BN (| H) —

y(m) A
i
2 xm)
‘B

(1) —16i (2) 32i (3) -321 (4 161

gl BIT Mall R 594 UdP W +Q MY 8 DI U A
TS L @ SraTedd 9Tl 9 Udh g6 J oIehl a7 | 39
gl ®1 VAl S8 SRR -1 & Siel R BIg [Rwcaldy ol
UHTG Fel © Td ST 9T & HeT DI 91 YA | O 1d ST
DI |

KQ? KQ?
(1) 1800, (2]_4)2 (2) 007 (L)Q

KQ? KQ?
(3) 1800’ (2L)2 (4) 9007 (2L)2

Space for rough work
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7. Two charges of +1uC and +5uC are placed 4 cm 7. +1uC @7 +5uC dTel & JATAY WER 4 cm T?@ M
apart, the ratio of the electric force exerted by both 3TN §RT Uh—q8R WR o T fIegd 9@l &1 srgurd

charges on each other will be : BT —
(1)1:1 21:5 (1)1:1 2)1:5
3)5:1 “4)2:4 3)5:1 “4)2:4
8. An electric dipole is placed in given electric field at 8. Q& fagci—faya @I R fegd &= 4 v 71 2, o fagd
shown in figure then the dipole : %%g,a—
o—bp—o o—bp—o
—-q *q —-q *tq

(1) not experience any force (1) W BT 9 21 BT
(2) experience a force towards right (2) TR SR SR g B
(3) experience a force towards left (3) IR 9T 3R 9 gt BT
(4) experience a force towards upwards (4) TR HUR DI 3R g BT

9. The electric field in a certain region is acting redially 9. 3r=<IRRel # e fif¥=a w17 4 faera &7 i arex @1 3R der
outward and is given by E = Ar. A charge contained SAPIAFE = Ardfear a2 S eF | 'a B & el
in a sphere of radius 'a’ centrered at the origin of fig R Rerd &= aret Ml § URag @ AT BT A9 &
the field will be : BT ?
(1) Aeya? (2) 4ne Aa’ (1) Agya? (2) 4ne Aa’
(3) Agga® (3) 4neyAa’ (3) Agya® (3) 4ne Aa’

Space for rough work
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10. The electric force on 2 pC charge placed at the

11.

12.

centre O of two equilateral triangles each of side
10 cm, as shown in figure is F. If charge A, B, C, D,
E & F are 2 uC, 2 uC, 2 uC, -2 uC, -2 uC, - 2 uC
respectively, then F is:

F
/\
E A
vov
VANAW
C
(1) 21.6 N (2) 64.8 N
(3) 0 (4) 43.2 N

In the circuit shown in figure C = 6uF. The charge 11.

stored in capacitor of capacity C is :

_ﬁc%éé—i_mv
(1) 15 uC (2) 90 uC
(3) 40 nC (4) 60 uC

The work done in increasing the potential 12.

difference of a condenser from 20V to 40V is W.
The work done in increasing its potential
difference from 40V to 50V will be—

w

3W
L4w @5 @2w @) 5

10.

TEST CODE
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10 cm 497 & &1 |GHETg Sl & o= R RFEgAR @
2 uC 3 W F 9 ovTal & | I *1maen A, B, C, D, E 3iR
F @& A % 2 uC, 2 uC, 2uC, -2uC, -2uC, -2uC g
I F &7 919 811

F
/\
E A
vov
VANVAN
C
(1) 21.6 N (2) 64.8 N
(3) 0 (4)43.2 N

o % yefRfd aRua & C = 6pF 2| C gilRar & daiRa &
<iferd amaer R

_rg—'z(l?_.r_-lov
(1) 15 uC (2) 90 uC
(3) 40 pC (4) 60 uC

TeR= &1 fava 20 V 9 40 V 9@ ge™ § far = ard
W 2 a1 9giRa &1 fava 40 V & 50 V §e™ ¥ foar
ol B —

w

3W
maw @ @2w @ 5

Space for rough work
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13. A wire 1 m long has a resistance of 1Q. If it is 13.

14.

15.

uniformly stretched, so that its length increases
by 25% then its resistance will increase by -

(1) 25% (2) 50%

(3) 56.25% (4) 77.33%

Voltage versus current graph for a material is
shown in figure. Which section represents the

negative resistance :

I A
B E
/\/r
A ¢ Y
(1) AB (2) BC
(3) CD (4) DE

In the circuit shown, the internal resistance of 15,

the cell is negligible. The steady state current

in the 2Q resistor is :

-
>
>
>

-
-
<
<

>
>
>
>

v

—_| 49Q

0.7 uF

<
<

W <

——WW—
—iV 28Q

(1)0.6 A
(3) 0.9 A

2) 1.2 A
4) 1.5 A

14.

ZONE - I
1 m ST dTel AR &1 UfRIg 1Q B | I} 39 YhaA™ wy
T Yoy sTD) THTS 25% d¢1 < WY d 39T iRy
=1 & 9g SR —
(1) 25% (2) 50%
(3) 56.25% (4) 77.33%
U ygref &7 diecol 91 9RT & 79 U1% o 9 uefdid 8 |
PIFTAT AT FoTHAD IRy Fefid oar 2

I A
B E
/\/r
A < >V
(1) AB (2) BC
(3) CD (4) DE

<o gRYY § Il o1 SaRe UfeRly g 1 2Q ufeariy
H Wl TR g § -

-
>
>
—

-
-
<
<

>
>
>
~—

-<
<
<

W <

—_| 49Q

0.7 uF

——WW—
—iV 28Q

(1)0.6 A
(3) 0.9 A

2) 1.2 A
4) 1.5 A
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16. A solid sphere of radius R is charged uniform 16.

17.

18.

19.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

through out the volume. At what distance from its

1
surface, the electric potential is 4 of the potential

at the centre ?

8R
m >

2R

R SR
@3 O3 @3

Force acting upon a charged particle kept between
the plates of a charged condenser is F. If one of
the plates of the condenser is removed, force
acting on the same particle become

(1) 0 (2) F/2 3) F (4) 2F

If the charge on a capacitor is increase by 2 C
the energy stored in it increases by 21%. The
original charge on the capacitor (in coulomb) is :
(1) 10 (2) 20 (3) 30 (4) 40

A parallel plate capacitor has two layers of
dielectrics as shown in figure. This capacitor is
connected across a battery, then the ratio of
potential difference across the dielectric layers is:

3
(4) 2

17.

18.

19.
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R 3 & wa1afRia o4 et & Fwgof amrard= # s faafka
2| et @1 wae 4 fhae g9 W fara fovwa &1 9M, o= W)

WW%TH@W?

2R
4 3

U AR GuRT & @il & " W Udh AMaRE &1 W
o a1l 91 F 2 | Ife FenfRa ) Uep wie &l gt e oIy
Tl A FHH BT TR I arel g B —

8R R SR
ms3 @3 @5

(1) 0 (2) F/2 B)F (4) 2F
afe g FeTRA TR 3 2 Gl 91 g Sre g, a g9
Afd Sl 4 21% @1 gig 8 A1l € | GRS U= el 313w
(epedfe #) B

(1) 10 (2) 20 (3) 30 (4) 40

Udh TR wic 9eTRa 9 el RETgar wiagd &1 &
W 2| FaRe B ue 98 | waifea fear o g
ORI URel & URd fa9ar=iRi &1 srguTd 8 -

k,=6
o———| ——o
e
R L RN
(3 @5 @3 @

Space for rough work
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20.

difference across the 4.5 uF capacitor :

3uF

4.5uF
‘ I 6 uF

f
12V

(1) 8 V (2) 6V 3) 4V 4) 8/3 V

21.In the circuit shown in the figure, the current 21.

through 4Q in mA-

3Q 20 20

VT

AAAA A
vy AAAJ

A=

20 2Q 2Q
(1) 250 A (2) 100 A
(3) 300 A (4) None

22.1f o, and o, are conductivity of two similar 22.

dimension conductors , then effective conductivity
of their parallel combination will be :

O +(52

S — (2) o0,
26,0, G40,
(3) O + (o)) (4) O + (o))

In the circuit shown in the figure, the potential 20Q.

CLASS - XII

ZONE - 1

s 7 ol T uRur # 4.5 uF & GuiRe &) wiel & 9=
favar=ax g—

45pF

It

12v
(1) 8V 2) 6V 3) 4V (4) 8/3V
fora # fe@r ergar uRuy § 4Q | 987 dTell gRT mA
BIfl—

VT
20 2Q 2Q
(1) 250 A (2) 100 A
(3) 300 A (4) None

&1 g FHM el aTet =] o Fdddl o, 91 6, © |
T WARR B A el SR @ wrd) areredl B

6, +0
(1) =5+ (2) o0,
26,0, G40,
(3) Gy +0, (4) Gy +0,

Space for rough work
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24.

25.
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When a battery is connected across a resistor of 23.

16Q), the voltage across the resistor is 12 V. When
the same battery is connected across a resistor
of 10Q, voltage across it is 11V. The internal
resistance of the battery (in ohm) is :

10 20
m = @ =
25 15
@) = @

In the circuit shown in figure, all cells are ideal. 24,

The current through 2Q resistor is :

<] 10Q
L v _16V
8V T
20
MV“UIVMUMU“V
(1)5 A 2) 1A (3) 0.2 A (4) Zero

A bar magnet of magnetic moment 10* J/T is free 25.

to rotate in a horizontal plane. The work done in
rotating the magnet slowly from a direction parallel
to a horizontal magnetic field of 4 x 10% T to a
direction 60° from the field will be :

(1)0.2J  (2)2.0J (3)4.18J (4)2x 10%J

TEST CODE
2808

ST & et 16Q UftRigs @ uRd waifed o Sl 8, @
gfeRige W) 12 V favaiary Sca 8Id1 8 | < 991 des

10Q feRigs & gRd A & o 8, 1 ufeRigs =)
11V fovaieR S 2iem 8 | 923 &7 1idRe ufeRie (3+

H) B :
10 20
1 = @ =
25 15
@ = “ =

forar & uefdfa aRuy & 9t 9« erresf 9@ € 99 20
yfeRIge | yarfed 9T §

< ] 10Q
4 4y _16V
8V T
20
MV“UIVMUMU“V
(1)5 A 2) 1A (3) 0.2 A (4) Zero

10*J/ T S vl SHeT g1 ATV BT Toh B b Atfcral
el § WAFATdP gH FH1 21 4 x 107 THe & Afa
D &3 1 TH TS gD DI &3 DI FHFR Q= 60°
DI T G 2 6T T Bk 71 71 B :

(1)0.2J  (2)2.0J (3)4.18J (4)2x 10%J

Space for rough work
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26. The formation of PH4* is difficult compared to NH4* 26.

27.

28.

because :

(1) lone pair of phosphorus is optically inert

(2) lone pair of phosphorus resides in almost pure
p-orbital

(3) lone pair of phosphorus resides at sp® orbital

(4) lone pair of phosphorus resides in almost pure
s-orbital

One gas bleaches the colour of flowers by 27.

reduction, while the other by oxidation, the two
gases respectively are :
(1) CO and Cl,

(3) NH3 and SO3

(2) H,S and Brs
(4) SO, and Cl,

Match List-I with List-II and select the correct 28.

answer
List-I (Molecules) List-II (Boiling points)
A. NHj3 . 211 K
B. PH3 II. 186 K
C. AsHj III. 264 K
D. SbH3 IV. 240 K

A B C D
(11 11 111 v
(2) I 111 v I
(3) IV 11 I 111
(4) 11 11 I v

CLASS - XII

ZONE - 1

PH4* @1 o1 NHy* ) o # ofes € aife

(1) BIEPIRE BT GehTd! ITH YHTRIS 31fha &
(2) BIRWBIRE BT YbTd! JTH T PG p-DHerd H Xedl o

(3) BIEHIRE BT Ghidh! I sp> HeTd IR I8 B
(4) DI BT THTD! ITH T PG s-HeTdh H Y&dl 8

TP 19 |l & 1 Bl e gRI R Bl 8 STafe
IRI 19 Sfferdepxor gIRT faRfSa @_ell 2, a1 &l 39 e
2

(1) CO @Il Clp
(3) NH3 21 SO3

(2) HaS TAT Bry
(4) SO, T Cly

-1 D FAI-11 3 FAfrd P gY Fe1 IR Y :
A1 (31 JA-1I (T D)
A. NH3 I.211 K
B. PH3 II. 186 K
C. AsH3 1. 264 K
D. SbH; IV. 240 K

A B C D
(1)1 II 111 v
(2) 11 11 v I
(3) IV II I 111
(4) 111 II I 1A%

Space for rough work
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29. Match the column I with column II and mark the 29. ®feF—1 &1 BfaH—I1 & W fHeM B T ITTH

30.

31.

appropriate choice :

Column I Column II
(A) Thiosulphuric acid (i) H,SOq
(B) Caro’s acid (i) HyS,04
(C) Marshall’s acid (iil) H,S,04
(D) Dithionic acid (iv) Hy,S,0q4

(1) (A) = (1); (B) = (ii); (C) — (iii); (D) — (iv)
(2) (A) = (iv); (B) — (iii); (C) — (ii); (D) — (i)
(3) (A) = (iii); (B) = (i); (C) — (iv); (D) — (ii)
(4) (A) = (i); (B) — (iii); (C) = (@); (D) = (iv)
Match list I with II -

List (I) List (II)
(Equivalent conductance Formula

at infinite dilution)

(A) 229 (a) [Pt(NH;)5Cl|Cl,
(B) 97 (b) [Pt(NH;),Cl;]|Cl
(C) 404 (c) [Pt(NH,),Cl,]Cl,
(D) 523 (d) [Pt(NH,)ICl,
The codes :

A B C D
(1) c a b d
(2) a C d b
(3) a d c b
4) c b a d

pH of 0.1M monobasic acid is measured to be 2. 31.
Its osmotic pressure at a given temperature T K is:

(1) 0.1RT (2) 0.11RT
(3) 1.1RT (4) 0.01RT

30.

TEST CODE
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fawea &1 T S

Column I Column II
(A) TATHRIRD e (i) H,SO,
(B) &R 31 (i) H,S,04
(C) Wi 3 (iii) H,S,0,
(D) SRUTAG ard (iv) HyS,04

(1) (A) = @); (B) = (ii); (C) — (iii); (D) > (iv)
(2) (A) = (iv); (B) — (iii); (C) — (ii); (D) = (i)
(3) (A) — (iii); (B) = (i); (C) = (iv); (D) — (ii)
(4) (A) — (ii); (B) — (iii); (C) = (i); (D) = ()

A G & 7] GHford dIfoTg —
= (1) & (1)
(31T TIDRYT R JodTeh ATeTehl) KSEl
(A) 229 (a) [Pt(NHj3)5Cl1|Cl;5
(B) 97 (b) [Pt(NH3)5Cl5]Cl
(C) 404 (c) [Pt(NH3)4CL,]Cl,
(D) 523 (d) [Pt(NH3)6]Cly
Pre e —

A B C D
(1) c a b d
(2) a c d b
(3) a d c b
4) c b a d

0.1 M U% &RGII 3 &1 pH, 2 U B1eht & Al BT IRIRR 0]
T4 T K 991 U= EITT?

(1) 0.1RT (2) 0.11RT

(3) 1.1RT (4) 0.01RT

Space for rough work
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32.

33.

34.

35.

2-chloro-2-methylpropane on reaction with 32.

alc.KOH. The major product is :
(1) but-2-ene

(2) 2-methylbut-1-ene

(3) 2-methylprop-1-ene

(4) 2-methylbutan-2-ol

Freon-112 is : 33.
(1) CF,Cl, (2) CoF;3Cl3
(3) CoF2CLy (4) CoF4Cly
Ph—CHD—CH,CH, ﬁ#) Major product 34.
v
Major product will be :
(1) Diastereomers
(2) Racemic mixture
(3) Meso
(4) Constitutional isomers
o
Hoffmann _ HBr_,
CH3_CH_(|:H_CH3 elimination” (B) >(C) 35.
Br HBrlPeroxide
A
(A) (D)
Correct order of rate of Sy1 for A, C and D will be
()A>C>D 2)C>D=>A
3)D>A>C 4 C>A>D

CLASS - XII

ZONE - 1

2-chloro-2-methylpropane @ 3ififthar Temiefas
KOH & #7121 3’17 IR = IUTQ I @ -

(1) but-2-ene

(2) 2-methylbut-1-ene

(3) 2-methylprop-1-ene

(4) 2-methylbutan-2-ol

hai-112 2 :
(1) CF,Cl, (2) CoF3Cl3
(3) CoF,Cly (4) CoF4Cly

Ph—CHD—CH,CH, —>§r2 TR TG &
AY

(1) s FHeadr
(2) ffe fAsror
(3) s
(4) FFATHD FHTGHT
CH,
I
CHy—CH—CH—CHy i (5)+25(0)
Br HBrlPeroxide
A
(A) D)
A, C T D & fog Syl arfiferan 31 &< o1 9e) 549 o—
()A>C>D 2)C>D>A
3YD>A>C @4 C>A>D

Space for rough work
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36. The vapour pressure of solvent decreased by 36. STd Ud amweiid faerd faemas # Srer a2, a1 faarad &1

10 mm of Hg when a non volatile solute was
added to the solvent. The mole fraction of solute
in solution is 0.2, what would be mole fraction
of the solvent if decrease in vapour pressure is
20 mm of Hg?
(1) 0.8

(3) 0.4

(2) 0.6
(4) 0.2

37. Which salt may show the same value of Van't Hoff

38.

39.

factor as that of K,[Fe(CN),] in very dilute solution

state?

(1) Al,(CO;)5(2) NaCl

(3) Al(NO,), (4) Na,SO,

Molality of 1M solution of NaNO, solution (Density

of solution is 1.25 g mL™! and mol. wt. of

NaNO,=85¢g mol‘l) is :

(1) 1.286 m (2) 4.44 m

(3) 0.858 m (4) None of these

Solute 'A' is associate in solution in following way
3A—> A,

If degree of association will be 60% then value of

Vant Haff's factor (i) will be :

(1) 0.6 (2) 0.4

(3) 0.2 (4) 0.8

IrsIETd 10 mm of Hg &¥ &1 Siral © | faerae # faera @1 e
79Tt 0.2 & | I faea® & arsgerd § 20 mm of Hg &1
B B § A1 faeiras &1 Aiel f m g 2

(1) 0.8
(3) 0.4

(2) 0.6
(4) 0.2

37. DI equ1 3ifcrery faerm araven § K,[Fe(CN)y] & |1

38.

39.

dfve €1t 0Tie &1 A I &2

(1) AL(CO,), (2) NaCl

(3) AI(NO,), (4) Na,SO,

1M , NaNO, @ faer @ sireteran @ 8t (feras &1 gvc
1.25 g mL ™! qen NaNO; ®T IR = 85 g mol ') :

(1) 1.286 m (2) 4.44 m

(3) 0.858 m (4) STH & PIS &I

faerr A’ faerm & e R & Sy e & -
3A—> A,

& FYUE B AT 60% & Al Vant Haff o7 (i) &1 A
B

(1) 0.6
(3) 0.2

(2) 0.4
4) 0.8

Space for rough work
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2808 ZONE - I

40. A complex is represented as CoCl;. XNH,; its 40. U® BEX| Eal CoCl;. XNH; 8XI yefRfd #d 2| I8
0.1 m solution in aqueous medium shows 0.1 m Sig faere # AT, = 0.558° k; Wa & foy
AT=0.558°. k; for H,0 is 1.86 molality '. Assuming 1.86 Hidterar ! <d1 2 | A Fa@al DI 100% SRR d
100% ionisation of complex and coordination no. Agel B FHGY TAT B A © Al Fhel BT gF Bl—
of complex is six, then the formula of complex.
(1) [Co(NH,;)5CI|Cl, (1) [Co(NH,;)5CI|Cl,
(2) [Co(NH;)4]Cl, (2) [Co(NH;)6ICl,
(3) [Co(NH,4),ClL,|Cl (3) [Co(NH,4),ClL,]|Cl
(4) [Co(NH;),Cl,] (4) [Co(NH;),Cl,]

41 B”"'"<:><CH3 —9_, Product 41. E,rl||n-<:><(:H3 — M, s@E
Major product of reaction is : SENESEIEIEDIEES teAS e GRS

(1) HO><:><CH3 (2) Houn--<:><cH3 (1) HOP<:><CH3 (2) Houn--<:><cH3
(3) HOPO-'MCH, (4) O—CH3 (3) HOPO-'MCH, (4) O—CH3

CH, H Br Zn CH; H Br Zn
42. cH —a > Major product is : 42, H\CH N I IATE B
3 3
Br H Br H
CH H H CH H H
\SC—C/H Se- \30—C/H Se-

1 = 2 1 = 2

O TN Pl Do, TN Pl e
(3) CH,=CH-CH=CH, (4) (3) CH,=CH-CH=CH, (4)

Space for rough work
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43.

44,

45.

NATIONAL OLYMPIAD

The stability of +1 oxidation state increases in 43.
sequence :

(1)Al< Ga<In<Tl (2) Tl <In < Ga < Al

(B) In < Tl < Ga < Al (4) Ga<In<Al<Tl

Thermally most stable compound is : 44.
(1) HOCI1O3 (2) HOCI10.,
(3) HOC1 (4) HOC1O
Which of the following is correct regarding Lewis 435.

acidic strength :

increase

TEST CODE
2808

+1 SHTRNBRT FaRel B AT BT I gl el HH & -

(1)Al<Ga<In<Tl (2) Tl < In < Ga < Al
(B)In<Tl< Ga<Al 4)Ga<In<Al<Tl

Faifere T W) Afe 2 :
(1) HOC103 (2) HOCIO,
(3) HOCI (4) HOCIO

=1 3 & g2 arvelia | &1 B 5 | B

Space for rough work
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TEST CODE CLASS - XII
2808 ZONE - I

46. Which of the following geometrical isomers are 46. ﬁﬁﬁ@aﬁwwﬁﬁw[M(NH3)2(py)2(N02)2] D

identical for [M(NH,),(py),(NO,),] ? foq w8 ?
NH, NH, NH, NH,
Py NH, NO, py Py NH, NO, Py
M M M M
(1) (1) (1) (1)
NO, by py NO,  NO, Py py NO,
NO, NH, NO, NH,
Py NH, py NH,
NH; NH,3 NH; py NH; NH,3 NH; py
(I10) M (V) M (I10) M (V) M
NO, NO, NO, py NO, NO, NO, py
py NO, Py NO,
Py Py
NO, NH, NO, NH,
M M
(V) (V)
NH, NO, NH, NO,
Py Py
(1) 11, V @ LI @I,V (411 V (1) 11,V @ LI @I, IV @),V

Space for rough work
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47.

48.

49.

50.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

Average oxidation number of Fe in Fe,[Fe(CN)¢],
is a. Oxidation number of central iron atom is 'b'.
Oxidation number of counter iron atom is 'c'. a,
b, c respectively are :

S S
A 2a 3 PN Sa 2
(1) +5,+2+ (2) +55+3+

(3) +§,+2,+3 4) +§,+3,+2

The primary valency of the metal ion in the
coordination compound K,[Ni (CN),] is :

(1) 4 (2)0

(3) 2 “4) 6

Which of these is formula of complex pentaammine
chlorocobalt (III) -

(1) [Co(NH;)sCl™ (2) [Co(NH;)Clg]*"

(3) [Co(NH,),CL,]" (4) [Co(NH,)sCL,]"

Which of the following system has maximum
number of unpaired electrons ?

(1) d* (octahedral, low spin)

(2) d° (tetrahedral)

(3) d® (octahedral, low spin)

(4) d° (octahedral)

47.

48.

49.

50.

TEST CODE
2808

Fe,[Fe(CN)]; ¥ Fe &1 3iH SATHRITDRY 37 a ¢ | diad
Fe URHTY] &1 GATHRYT 36 'b' € | HISUSR 3R URHAT]
1 ATFATPRYT 37 'c' 8| a, b, ¢ HHAI: & —

S S
A 2a 3 ) Sa 2
(1) +5,+2+ (2) +55+3+

(3) +§,+2,+3 4) +§,+3,+2

SuvigsdrSia Al K [Ni (CN),] ¥ ©rq 31+ o1 wierfien
FATSTHAT B—

(1) 4 (2) 0

(3) 2 4) 6

Hae UeUHMaRITaTee (I11) 1 9 711 9 9 $I9 |1 &—

(1) [Co(NH;)sCI]™ (2) [Co(NH;)Cls]**

(3) [CO(I\II'I3)2012]+ (4) [CO(I\II'I3)5012]+
frrfafad 4 9§ foad de9 a1fde Rgfva seleg= ur’l od
g—

(1) d* (3rsswHerag, fo Trgrom)

(2) d° (FghDT)

(3) d® (rsHera, foF= =g

(4) d° (rSHerd)

Space for rough work
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TEST CODE

2808

PART-C : BIOLOGY

CLASS - XII

ZONE - 1

51. In menstruation cycle of human female, the 51. HIGT AT & d Th H I UTARAT BT 3N BT

52.

53.

54.

menstrual phase followed by the :

(1) Ovulatory phase

(2) Luteal phase

(3) Follicular phase

(4) Post ovulatory phase

The correct chronological order of the following 52

reproductive events is :

(1) Gametogenesis — Fertilization
— Insemination —» Gestation — Implantation
— Parturition

(2) Gametogenesis — Insemination
— Fertilization — Implantation — Parturition
— Gestation

(3) Gametogenesis — Insemination
— Fertilization — Implantation — Gestation —
Parturition

(4) Gametogenesis—Parturition — Fertilization
— Implantation — Insemination — Gestation

How many of the following hormones are produced

by only placenta ?

(I) hCG

(I) hPL

(III) Gonadotripin

(IV) Prolactin

(V) Thyroxin
(1) 4 (2) 3
3) 5 (4) 2

A : No effect on the pregnancy if ovaries removed
during second trimester.

R : The main source of progesterone during second
trimester is placenta.

(1) If both assertion (A) and reason (R) are true
and reason (R) is the correct explanation of
assertion.

(2) If both assertion (A) and reason (R) are true
but reason (R) is not the correct explanation of
assertion.

(3) If assertion (A) is true but reason (R) is false.

(4) If (A) is false and reason (R) may be true and false.

53.

54.

YTaReIT B ©

(1) rvSIET yraRer

(2) Urd YreRen

(3) gl uraRen

(4) TTT SO UTa=er

. =1 S geell @1 WEl FTeAImiAG H a1 T —

(1) g™® TT->FuTa —» dRiEa » Tiae
— IR — JFqd

(2) D T — IR-ET — e - IR
— Tg — T4ige

(3) THD - I AT - MR
— e —» ug

(4) ™D T - THd - = - RO

— JrRIET — g
for T o 9 fopaey BT daet 3TURT GIRT ST~ &1 & 2

() hCG

(1) hPL

(N RIBSMIES]

(IV) wreifaes

(V) arRifaas

(1) 4 2) 3

3) 5 @) 2

A : fedige M) 9 srvererl o geM W) Gddr IR BT
¥ =TE g |

R : fZias fommE # Woe< &1 Je Hid JTORT 8 2 |

(1) A QT R T 9T € AT R, A &1 FEl TG ¢ |
(2) AT R S G & AfGT R, A BT FEI TICIHRIT TEl
2 |

(3) AT & TUTR A ¢ |
(4) A 3T & T R e NAT 3T T |
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NATIONAL OLYMPIAD

55. Consider events given below - S5.

A : Release of oxytocin from maternal pituitary.
B : Contractions in myometrium

Select correct statements :

(I) A is cause of B, during parturition

(IT) B is cause of A, during parturition

(1) Only I (2) Only I
(3) Neither I nor II (4) Both I and II
56. Select the wrong statements — 56.

(1) Commelina is a cleistogamous flower

(2) Vallisnaria is pollinated by water current

(3) Double fertilization found in gymnosperm and
angiosperm

(4) Emasculation and bagging are essential
process for artificial hybridization in bisexual
flowers

S7. Arrange A, B, C, D and E in the sequence of dicot 57.
embryo from zygote :

Cotyledon ¥

()A-C->D->B->E
2JA->B->C—->E->D
BC->B—->D->E->A
49B->D>A->E->C
58. Following term relate with - 58.
(A) More than one nucleus.
(B) Contain nutrients.
(C) Structure of microsporangium.
Choose right option :
(1) Epidermis
(2) Middle layer
(3) Tapetum
(4) Endothecium

TEST CODE
2808

=1 el W e STy —

A : A Gy T F SRS BT gad g1 —

B : TR FeqeR § Aqgad

FE B BT AT PIRTY —

(I) ¥9a & SR A , B &1 RO B

(II) TG & SRE B , A $T BRI 8

(1) Had I (2) ®ad I

(3) AL RALII (4) 1 Q111 |41

Tefd B Y

(1) DIHATST Yh =T I ¢ |

(2) aferRar STaarT gR1 wxIfid grar 2

(3) faferem srgadisn quT srgadisl |191 § i ST
g |

(4) fagss dern defiev fgferh gui § M davo &
fore srawas ufafpad 21

A, B, C, D T1 E & & ¥ fgdisiosl qu1 79 & &2

PH H FafRed ol

()A-C->D->B->E
2JA->B->C—->E->D
BC->B—->D->E->A
49B->D->A->E->C
ot e foreasy wafRd € -
(A) T | AP DD |
(B) Uryai @1 SUReIfi |
(C) THISATOLET &1 HR= |
SEEIRIEUE

(1) 911 &=

(2) w1 U=

(3) <dien

(4) 3r=er =
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59. Choose the correct statements about generative 59.

60.

61.

62.

cell of pollen grain :

(A) All together spindle shaped and dense
cytoplasm

(B) Divide mitotically to gives rise two male
gemetes

(C) Small in size & floats in cytoplasm of vegetative
cell

(D) Generative cell produce pollen tube through

germpore
(1)A, B (2) B, C
3)C D (4) A, D

What is the fate of the male gametes discharged

in the synergid?

(1) One fuses with the egg and other fuses with
central cell nuclei.

(2) One fuses with the egg, other degenerates in
the synergid.

(3) All fuse with the egg.

(4) One fuses with the egg, others fuses with
synergid nucleus.

Incidents of STD are very high among persons, in

the age group of

(1) 15-35 year

(2) 15-30 years

(3) 15-24 years

(4) 15-45 years

Identify the incorrect statement from those given

below :

(1) RCH programmes created awareness among
people about various reproduction related
aspects

(2) Sexually transmitted diseases can be avoided
by educating people with proper information
about reproduction, adolescence and related
changes, etc

(3) MMR is known as Maternal Mortality Rate.

(4) ‘Saheli’-a new oral contraceptive for the
females—was developed by scientists at Central
Drug Research Institute (CDRI) in Alwar, India

60.

61.

62.

CLASS - XII

ZONE - 1

IRITHOT B SI=d BIRIDT & IR § T& Bl Bl a9
HIfTT:
(A) G929 THHUI JMPTT T Fe DIRTHTE BNl 2 |

(B) &1 TR IS 99 & oIy THGAY gIRT fawrfra g 2 |

(C) MR H BITT T HTFAD BIRTGT & DIFGT §9 H A=A

g

(D) 5= 5 gR1 S PIfST IRAT AferdT Ica H el
g

(1)A, B (2) B, C

(3)C, D (4) A, D

HERID BRI H et Bl dlel 7R GTHD| P1 WA &1

BITT?

(1) T IFUEMY] & 1 FAIRAC BT & T G BRI PIFAH]
@ dad W Hgad B T |

(2) U 3fUSIY] ¥ Yl B & T GHRI HERID DIfrhl H
faafea g S 2

(3) |t JrveTY] HIRTHT | Ao B € |

(4) U 37USTY] | HYeH EIcll & AT GHRI FERD DIRAPT
T § YT eIl © |

STD 8 &1 |alfded FHTemT 7/ 3yt & safdaai § gl

g

(1) 15-35 a9

(2) 15-30 a9

(3) 15-24 o

(4) 15-45 a4

=1 AU 1T weml # TToId HUH @1 gEAg

(1) RCH ST%HH @i H S+ Hafd ggsil & ufd SiFmeavan
I PR B

(2) T FART I F A BT Ioi=+, fHaRTaReT 3R 3HA
Frgfrd gRad=l & Fafd Sfad gaemsi gRT g o
APpaT B |

(3) A1Y g X &I MMR & SeITa1 Sl 2 |

(4) FEA TS TH-FRIgS el B WISl AIRTH 3TeTdR &
DA e rIHY FeIH (Hgd $91 R g=<Ieye—
A ST AR 31ME) 7 DI B |

19
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§
63. Oral contraceptives inhibits ....A..... and
implantation as well as change quality of cervical
...... B.... to prevent the entry of sperms
(1) A-ovulation; B-mucus
(2) A-oogenesis; B-structural
(3) A-oogenesis; B-nucleus
(4) A-spermatogenesis; B-mucus
64. How many statements are correct for pregnancy?
I. Generally MTP is safe during the first trimester
II. Chances of contraception are nil until the
mother breast feeds the infant upto 2 years
III.IUDs are very effective contraceptives
IV. Pills may be taken upto one week after coitus
to prevent conception
(1) 11, v (2) 1, 1
3) I, I (4) 11, I
65. Later complications of STDs are
I. pelvic inflammation disease
II. abortion
III. still birth
IV. ectopic pregnancies
V. itching in genital organ
VI. cancer
Choose the correct combinations
(1) I, II, III, IV and VI
(2) I, 11, III, V and VI
(3) L, I, IV, V and VI
(4) I, II, IV and VI
66. Streptococcus pneumonae bacteria infect _ in
human body .
(1) Nose and respiratory passage
(2) Alveoli of the lungs
(3) Gastro intestinal tract
(4) Cardio vascular system

67.

Which one is a effect of nicotine on body —

(1) It stimulate adrenal gland to release
catecholamines into blood circulation.

(2) Decreased blood pressure and increase heart rate.

(3) It is not related with oxygen deficiency in the body.

(4) Chewing tobacco is not addictive in nature.

63.

64.

65.

66.

67.

TEST CODE
2808

I T FRIED ... A..... 3R I BT FEAT PR iR T™RR™

At @1 ......B.... Jorad § gRac SR YTl & a2 Bl

Jdd

(1) A-JTUSIHT; B-Toiol

(2) A-3(9SST; B-HRAHD

(3) A-3ET; B-dd

(4) A-ETY] T; B-TT

foram per TiaRen & for 9 27

I. MTP Sr7=uar verd 3l & SR R grar 2 |

I1. THFRIET @ FHEET Y 8, 99 I & 91ar 2 9y dd
g @1 g fremdh 2 |

I11. IUDs 9gd y¥TdT TeRIg 2 |

V. THIRYT W 997 & foTT Hgdrd & 918 U TS b Mordi
CIRSIRSCasIR

(1) III, IV

(3) 1, II

STDs & dI§ & IR &0

L. SO TSt R

I1. T

11 ga Riger=

IV. 3RS Fnar

V. ST H Gotel!

VI. DR

L AT BT TIT DY

(1) I, 11, III, IV @I VI

(2) 1, I, 111, V @7 VI

(3) 1, III, IV, V @11 VI

(4) 1, 11, IV @ VI

FEIDIHH FAMI SHaTy] AFG IRRHA _ FhfAd el
g

(2) 1, TII
(4) 11, III

(1) T G Taa+ AR

(2) BT B RfUDTY

(3) TTaR AT arfel

(4) g s a7

o1 § | DI IR R IE &1 U wTa 8 —

(1) T8 1fgae UfY ®! Tad uRE@ROT H catecholamines
A1 & fore URd HRar g |

(2) & ST9 HH BT 8 AT gST S 9T 2 |

(3) TE IRR H SiTRIISTT BT Bl & Fafdd T8 2 |

(4) T, TG UGB H T TE B |

“eRUTIE "’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500




TEST CODE CLASS - XII
2808 ZONE - I

68. What type of immune response will be produced during 68.
the first attack of polio virus in a child who has properly

If U g = viferdl S @1 Frafig w9 | @RI o 8 8i)
IaH dIferal &1 |feha fauro] ufae g & a1 S+ frr=ifarlaa
# o= uferen argforar vafdia gnf -

(1) wnerfire wfcRer argfehan

(2) fe<iae ufcren srgferan

(3) Tr=IRe® Uferer argfehan

(4) (2) T2 (3) S

taken the polio vaccine and its booster doses
(1) primary immune response

(2) secondary immune response

(3) anamnestic immune response

(4) both (2) and (3)

69. Identify the molecules (a) and (b) shown below and 69. =< U&fRid 319 (a) T (b) DI USAT TAT I A d STAN
select the right option giving their source and use @ T H 8 faden a1 a8 B —
(2) h (a) [ Ho h
H
N\CH .
HOW"
J J
(b) )
(b) )
OH
~ OH
NS
O
| H 0
| H
. .
o v
Molecules Source Use ;
(1) |(a) Cocaine Erythroxylum |Accelerates the o wid T
coca transport of (1) (a) Do ?ﬁeﬁa@aq S & aRagd dl
dopamine Pl EERIAS
(2) |(b) Heroin Cannabis Depressant and oI : o S
sativa slows down body (b) #Rg DA TG |TaAED SR AR
functions. U1 T G HcH ©
(3) |(b) Cannabinoid |Atropa Produces 3) [(b) SfeTss ST deie | T fyw S el
belladona hallucinations 7 — =y 5
(4) |(a) Morphine Papaver Sedative and pain ) |(2) =ife5t RRIEH
somniferum |killer

21
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70. Sometimes a mismatched graft is rejected by our 70.

71.
72.

73.

74.

75.

Tecno'23

immune system. Find out the property of immune
system and immunity component responsible for
this activity.
(1) B-cells and memory
(2) Memory and discrimination
(3) Discrimination and Tc-cells
(4) Memory and Tc-cells
Genes which codes for a pair of contrasting traits
are known as :
(1) Alleles (2) Non-alleles
(3) Pseudo-alleles (4) Multiple alleles
One of the genes present exclusively on the X-
chromosome in human is concerned with :
(1) Sickle cell anaemia (2) Thalassemia
(3) Red green colour blindness (4) Albinism
The number of linkage group in a cell having 18
pairs of chromosomes are
(1) 5 (2) 15 (3) 18 4) 9
There are two alleles (A; and A,) out of which one
(A;) has nil abundance in a population then the
abundance of second (A,) is :
(1) 0.25 (2) 0.50 (3) 0.40 (4) 1.00
Find out the number of AABBCcDD if parents are
AaBBCCDd and AaBbCcDD :

2 2
@5 @

1
(1) 7 4 35

71.

72.

73.

74.

75.

TEST CODE
2808

FH—FHH SrGAfeTT IR AT I7 3777 BT TR ufoRen o
ERT A% T SAbR DR 47 i1l & | gargd f uferen a1
BT PITAT 0T T TShH AP forg RIIER 2

(1) B-aRre1¢ den Wi

(2) Ffar e faweTeirerd

(3) fadg=reieran e Te-aIRaTg

(4) HfT T2T Te-PIfRredTg

S 1 e i) fauais) faerye @1 w1 ovd g, o v
H I T €

(1) = faged (2) org™ fawed

(3) T grfamd (4) agg™ fawed

T S 1 A9 H dael X-TOREE W IURed 2 ¢ | frad
TR B

(1) S DIRM®T sRadar  (2) AerAfia

(3) ST G & T B quiierd (4) TaAfafoH

e DIfTeT RTH 18 SISl TORF &, SHH AgelIdl gl
DY =T T B

(1)5 2) 15 (3) 18 4) 9

fpdl arrarel # &1 gWfAeedl (A, TAT A, H A, DI
IUAL T & T4 §IR JHAdDed! A, DI IuTerdl o1 el

(1) 0.25 (2) 0.50  (3) 0.40 (4) 1.00
AABBCcDD & §%&01 3i1d axI | Ife S AaBBCCDd
AT AaBbCcDD 3 :

1

1 2 2
Mg @5  ©BF @3

Space for rough work
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TEST CODE CLASS - XII
2808 PART-D : MATHS ZONE - 1

d d
76. If y=tan™ 98X | then 2 s equal to : 76. Al y =tan [ﬂj q9 Y SRR B
1+sinx dx 1+sinx dx
1)1 2 1 1)1 2 1
(1) @) 5 (1) @) 5
1 (1+sin x)2 1 (1+sin x)2

® =3 4 (25 sin2x) S 4 (25 sin2x)

77. Number of solutions of the equation sinx x| |cosx x
. 77. \HI@HRO =0 gl 3 F= T
sinx x| |cosx X 1 1 1
11 p| =0 is
X (D1 (2) 2
()1 (2) 2 33 (4) 4
(3) 3 (4) 4 x
e CcOS X
x 78. Ffe | . =A+Bx+Cx* ... g, dl
e COS X sinx In(l+ x)
78. If | . = A+Bx+Cx? ... then the
sinx In(l+x) (A + B) FIEIGES

value of (A + B) is equal to (1) 0 2)1

(1) 0 (2)1 ) 2 (4) 3

(3) 2 (4) 3

22430 A-1 A+3
2

2243, a-1 a+3 79. ARAM +BA3+ CA2+ DAL+ E = A+l 5h+2 -3

P-3 A+d 3

79. If AM*+BA3+CA2+ DAL+ E=|2+1 5h+2 2-3

A2-3 h+4 3 2, a1 (E - A) &1 HH RER 2
then value of (E — A) is equal to
(1) 8 (2) 12 (1) 8 (2) 12
(3) 13 4) 15 (3) 13 4) 15
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80. If 3@ +b2+c2+1)=2@+b+c+ab+bc+ca) 80. IT 3@2+b2+c2+1)=2@+b+c+ab+bc+ca) g

81.

82.

a b c

then the value of [bc ca ab| is equal to
1 2 2

(l)a+b+c

(2)a+b-2c

(3) abc

(4) 4a%b?c?

The difference between the maximum and 81.

minimum value of the function

f(x) = 3 sin*x - cos®x is

3 5
3 @ 3
(3) 3 (4) 4
The ordinate of all points on the curve 82
1
y = 3 where the tangent is

2sin® x +3cos’ X
horizontal, may be
(1) always equal to 1/2
(2) always equal to 1/3
(3) 1/2 or 1/3 according as x is an even or an odd
i
2

(4) 1/2 or 1/3 according as x is an odd or an even

integer multiple of

n
integer multiple of 2

TEST CODE
2808
a b c
T |bc ca ab| HTAF R 2
1 2 2
(l)a+b+c
(2)a+b-2c
(3) abc
(4) 4a’b?c?

®ed f(x) = 3 sin*x - cos®x @ 3T Td YATH A
BT 3R B

3 >
(1) 3 (2) 5
(3)3 (4) 4
1
. dby = 5 TR 3 | fIgell @ dife,

2sin? x +3cos’ x

3 = Tt 3 &fes 81, 81 |

(1) 94 1/2 & ST
(2) <9 1/3 & IRIER

@) x =

5 & T 1 fauH T[orie 819 & 3R 1/2 31 1/3

@) %, = @ fIum a1 |9 T[N 819 & SgER 1/2 A1 1/3
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83. If the equation x3-12x+a = O has exactly one 83. IR TP x3 - 12x +a = O B SIP Ud qRAISD qd &,
real root, then range of a is equal to dla &1 IRTR &—
(1) (= o0, — 16) U (16, ) (1) (—o0,—-16) U (16, )
(2) + 16, 16} (2) 16, 16}
(3) (- 16, 16) (3) (- 16, 16)
(4) (=00, — 16] U [16, x) (4) (=0, - 16] U [16, o)

84. The function f (x) = 2x3+ ax?+ Px + vy, where o, B, 84. HoF f(x)=2x3+ox?+ Px+7vy,8l o, P,y € R, &
Y € R has local minimum at P (log3 ‘[z,f(log3 tz)) fag P (log3 ‘[Z,f(log3 t? )) TqA1 Q (log3 t,f(log3 t»
and local maximum at UR HHEN: WY RYATH T RATHY AfoHad ¢ | afs

5 (5
Q (log, t.f{log, t)). 1t R Gf(%n is the point of R (E»f(gn A-oRadA fag e, @'t e

inflection, then 't' is equal to

(1) 32/5 (2) 31/5 (1) 3%/5 (2) 31/°
(3) 35/3 (4) 33/5 (3) 3°/° (4) 3%/°
85. The global maximum value of 85. 3R (0, M) H f (x) = cot x — V2 cosec x w1\
f(x) =cotx — \/5 cosec x in interval (0, T) is equal ST AT 5
to
(1)1 2) -1 (1 (2) -1
3)0 4) 2 (30 (4) 2
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86. Find the sum of values of x, y and z satisfying 3 0 3] x 8 2y
the matrix equation 86. JMFETHIARY |2 1 O] |y|=|1|+| z | P 9=
3 0 3| [x] [8] [2y 4 0 2)|z] |4 [3y
2 1 0)|y|=[1]+]|z [ PAARIX, y Ud z & HHI Dl RS 1A DI |
4 0 2| |z 4 3y
(1) 4 (2) 8 (1) 4 (2) 8
(3) 6 (4) 2 (3) 6 (4) 2

87. Let f(x) be a twice differentiable function and 87. ¥l f(x) TS fgeraday wad 2 3N £7(0)=5, o

3f(x) - 4f(3x) + f(9%) _ It 3f(x) - 4£(3x) + f(9%) _

"(0)=5, then _It

x—>0 X2 x—0 X2
(1) 30 (2) 120 (1)30 (2) 120
(3) 40 (4) None of these (3)40 (4) 39 & P17
88. If o and B are roots of the quadratic equation 88. I o T2IT B AHHI ax® + bx + ¢ = 0 Eﬁﬁﬁ%\"l’e{
ax? + bx + ¢ = 0 then the value of : 1 p
lim —cos(cx® +bx +a)

. [1-cos(cx® + bx +a) xol 2(1 - ax)’ PTATE —
lim . a
x—)é 2(1—(X,X)2 1S :
()ococl} ()ococB ()ococl} ()ococB

L(l_l) g(l_lj 3(1_1) g(l_lj
G 2ela B @ alep ©®) f2alo B W le s
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89.

90.

If the function

tan(a + 2)x + sinx

, x<0
X
89.
f(x) = b , x=0
Vx+x% —Jx
T , x>0
is continuous for all x € R then :
3 1 1
1 = —-=, b== 2 =_]-7 b=~
Wa=-5 b= 2) a 5
5 1
= = :__, b:_
B)a=1,b=2 4) a 5 5

Let f(x) be differentiable and continuous function 90.
for all reals :

fix +y) = f(x) - 3 xy + f(y). If hﬁjo% =7

Then the value of f'(x) is:
(1) - 3x 2) 7
3)-3x+7 (4) 2f(x) + 7

CLASS - XII

ZONE - 1
tan(a+2)x+smx’ %<0
X
IfE waT f(x) = b , x=0  39+fi
Vx+x% —Jx
T 5 X>O
X
x e RA9ad g, a9
3 1 1
(a=-5. b=3 @a=-1,b=_
S 1
= = -2 p==
B)a=1,b=2 “4) a 5 5

AT Bl f(x) T4 aRafdd & forg Srader=ia dqeiT Fadd ¢

f(h)

fix +y) = f(x) - 3 xy + f(y). If hli;coT _7
T (x) PIAE

(1) - 3x @7
(8)-3x+7 (4) 21(x) + 7
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If R is a relation on the set Z of integers and it is
givenby (X,y) e R= |x-y| <1, thenRis:

(1) Reflexive and Transitive

(2) Reflexive and Symmetric

(3) Symmetric and Transitive

(4) An equivalence relation

Let R be the relation over the set of all straight
lines in a plane such that I|Rl, =1, L 1, , then Ris
(1) Only symmetric

(2) Only transitive

(3) Only reflexive

(4) Only an equivalence relation

Let f(x) = x # —1 then for what value of a is

x+1
f(f(x) =x:
(1) V2 (2) =2
(3)1 4) -1

91.

92.

93.

TEST CODE
2808

i T R, qUifel & o9 Z IR 39 USR a1 mar g, fo
x,y)eR=> |x-y]| < 1, T RB:

(1) Wged Ud HehTHh

(2) ¥aged vd A

(3) FAfAfY Ua HehrId

(4) Jogar ==

A R Uoh FAq | Rerd 9+ Y@mell & §9=g R U6
T A yeRefd IR, =1, L 1, , 9 REM—

(1) dact FafAfy

(2) ®Hadt FHTHD

(3) et TageT

(4) DIt JoId T

M Afx) = L7 x#-1 T ad ford 7 & forg
f(f(x)) =x B :

(1) V2 (2) -2

3) 1 4 -1
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94. The period of the function sin® 5 +|cos® 5 is : 94. ®ald sin® 5 +|cos® g‘ BT 3D & —
(1) 2n (2) 10n (1) 2n (2) 10m
(3) 8n (4) 5n (3) 8n (4) 5n
95. Let f (x) = sin (sin™! x + cos™ x + x) and 95. IR f (x) = sin (sin~! x + cos™! x + x) T

g (%) = cos (tan™! x + cot™! x + 2x) then : g (x) = cos (tan! x + cotl x + 2x) &, Tqd —

(1) f (x) and g(x) both are non-periodic. (1) f (x) TAT g(x) QI SGRT Bl & |
(2) f (x) and g(x) both are periodic. (2) f (x) TAT g(x) S AR Bt =
(3) f (x) is periodic but g (x) is non-periodic. (3) f (%) Cﬂ'@ﬁ[ <fd g (x) Gﬁlﬂﬁf BT 2 |
(4) f (x) is non-periodic but g (x) is periodic. (4) f (x) JFTERT aifeh g (x) 3MIRT B 2 |
96. Let S={1,2,3,...,n} and 96. I $=(1,2,3,...,n} 3R
A={(a,b)| 1<a,b<n}=SxS. A subset B of A is said to A={(a,b)| 1<a,b<n}=SxS. A, B &I IU HqE T, A Bl AT
be a good subset if (x,x)eB for every xeS. Then the B'CI'\‘T‘IS’EIT&“IGTT?‘IT%H% (x,x)eB & oI UA® xeSTd A D
number of good subsets of A is : 3T JY FHE DI 6T 2 |
(1)1 (2) 2= (1)1 (2) 2=
(3) 2nD @) 2" (3) 2nD ) 2"
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sin| Lsin™ V63 )
97. 4 3

1 1
057 @5
1
63 @) 242
2% - v) dy .
98. If x¥ = e“* 7Y then ax s equal to :
2(1+1logx) (1+1ogx)

(1) (2+1og x)2

2(1-1logx)
3) (2 +1og x)2

2 +logx

(2) (2+1og x)2

() (2 - logx)’

sin lsin’lﬁ =
97. 4 g
b
(1) 22
3) NG

08. I x’ = 2%~ g

2(1+1logx)
(1) (2+ logx)2
2(1-1logx)
() (2+1og x)2

TEST CODE
2808

1
@ 5

(4) 242

dy
dx -

(1+1ogx)
(2) (2+1og x)2

_2+logx
() (2 - logx)’
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99. If f: R—{0} - R,f(x) = — : +§+1 then f(x)is-  99. 7R f:R—{0} > R,f(x) = — 1+§+1 9 f(x) 3
e* — e —
(1) Even function (1) FH° Bl
(2) odd function (2) fawH wet
(3) Neither even nor odd (3) T wA 7 & faww
(4) None 4) DIg Bl

100. The value of,

e et

PIHAFE —
2 o) 2 o
(1) 2 (2) 3 (1) = (=
3 J7 3 J7
6 5 4 5 Elby 4 5
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Class - 12th

Paper Code : 2808

PART-A : PHYSICS

PART-B : CHEMISTRY

PART-C : BIOLOGY

PART-D : MATHEMATICS

Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans
1 2 26 4 51 3 76 3
2 3 27 4 52 3 77 3
3 2 28 3 53 4 78 1
4 2 29 3 54 1 79 3
5 3 30 4 55 4 80 2
6 1 31 2 56 3 81 4
7 1 32 3 57 4 82 4
8 3 33 3 58 3 83 1
9 2 34 2 59 2 84 3
10 4 35 4 60 1 85 2
11 3 36 3 61 3 86 3
12 2 37 1 62 4 87 2
13 3 38 3 63 1 88 3
14 2 39 1 64 2 89 4
15 3 40 1 65 1 90 3
16 3 41 1 66 2 91 2
17 2 42 1 67 1 92 1
18 2 43 1 68 4 93 4
19 4 44 1 69 4 94 2
20 1 45 2 70 3 95 4
21 1 46 1 71 1 96 3
22 1 47 3 72 3 97 1
23 2 48 3 73 3 98 1
24 1 49 1 74 4 99 1
25 2 50 2 75 3 100 4
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